
 

 

November 2017:  PaETS – Module Three:  Partners 
SG045 – Q184 
 

From population Question/Field To question: 

Q091 single 
response 
Q092 
SG036 = 1, 2, 3 
Q104 = 1 
Q129 single 
response 
Q130 

SG045 
 
1. If Partner on HH form (Please create a field 

in Blaise on the mothers record that stores 
the ‘Partners RECORDID’) 

2. Otherwise 

 
 
1.  Q135 
2.  Q190 (Module 4) 

SG045 = 1 Q135 
The next few questions are about your partner’s 
working arrangements during your pregnancy 
with [child’s name]. 
 
Was [partner’s name] your partner during your 
pregnancy with [child’s name]? 
 
1.  Yes 
5.  No 

 
 
 
 
 
 
 
 
1.  Q136 
5.  Q190 (Module 4) 

Q135 = 1 Q136 
Did [partner’s name] work in a job or business 
while you were pregnant? 
 
1.  Yes 
5.  No 

 
 
 
 
1.  SG046 
5.  Q158C 

Q136 = 1 SG046 
 
1. If partner LFS Q080 answered 
2. Otherwise 

 
 
1.  Q137 
2.  Q138 

SG046 = 1 Q137 
Was that job or business the same as [partner’s 
name]’s current [partner’s job/business]? 
 
1.  Yes 
5.  No 

 
 
 
 
1.  Q143 
5.  Q138 

SG046 = 2 
Q137 = 5 

Q138 
In [partner’s name]’s last job while you were 
pregnant with [child’s name], did [he/she] work for 
an employer or in their own business? 
 
1. Employer 
2. Own business 
3. Other/Uncertain 

 
 
 
 
 
1.  Q139 
2.  Q141 
3.  Q140 

Q138 = 1 Q139 
Was [partner’s name] paid a wage, salary, or 
some other form of payment? 
 
1.  Wage/Salary 
5.  Other/Uncertain 

 

 
 
 
 
1.  Q143 
5.  Q140 



 

 

Q138 = 3 
Q139 = 5 

 

 

Q140 
What was [partner’s name]’s [working/payment] 
arrangements? 
 
1. Unpaid voluntary work 
2. Contractor/Subcontractor 
3. Own business/Partnership 
4. Commission only 
5. Commission with retainer 
6. In a family business without pay 
7. Payment in kind 
8. Paid by the piece/item produced 
9. Wage/salary earner 
10. Other 

 
 
 
 
1.  Q190 (Module 4) 
2.  Q141 
3.  Q141 
4.  Q141 
5.  Q143 
6.  Q143 
7.  Q143 
8.  Q143 
9.  Q143 
10.  Q143 

Q138 = 2 
Q140 = 2, 3, 4 

Q141 
Did [partner’s name] have employees (in that 
business)? 
 
1.  Yes 
5.  No 

 
 
 
 
 
 Q142 

Q141 Q142 
Was that business incorporated? 
 
1.  Yes 
5.  No 

 
 
 
 
 Q143 

Q137 = 1 
Q139 = 1 
Q140 = 5 to 10 
Q142 

Q143 
How many hours did [partner’s name] usually 
work each week in that [job/business] while you 
were pregnant? 
 
NOTE: if worked less than 1 hour, enter 0. 
 
Number of hours (numeric 3 digit (0 to 168)) 

 
 
 
 
 
 
 
 SG047 

Q143 SG047 
 
1. If Q138 answered 
2. Otherwise 

 
 
1.  Q144 
2.  SG050 

SG047 = 1 Q144 
What was [partner’s name]’s occupation in that 
[job/business]?  
 
(Title) Text string (100 characters) 

 
 
 
 
 Q145 

Q144 Q145 
What were [partner’s name]’s main tasks and 
duties? 
 
(Main tasks and duties) Text string (100 
characters) 
 
Create Field to store Occupation Code 

 
 
 
 
 
 
 
 Q146 



 

 

Q145 Q146 
What kind of business or service was carried out 
by [partner’s name]’s [employer at the place 
where he worked/business]? 
 
Text string (100 characters) 
 
Create Field to store Industry Code 

 
 
 
 
 
 
 
 Q147 

Q146 Q147 
What was the name of [partner’s name]’s 
[employer/business]? 
 
NOTE: Ctrl R may be entered here is necessary 
 
Text string (100 characters) 

 
 
 
 
 
 
 SG050 

SG047 = 2 
Q147 

SG050 
 
1. If partner LFS Q038 or Q062 answered (OR 

if Partner LFSQ20=1 OR LFSQ32=16 OR 
LFSQ56=16) 

2. If Q141 answered OR Q140 = 6 
3. Otherwise 

 
 
1.  Q157 
 
2.  Q157 
3.  Q150 

SG050 = 3 Q150 
Did [partner’s name] take any paid leave for 
[child’s name]’s birth? 
 
1.  Yes 
5.  No 

 
 
 
 
1.  Q151 
5.  Q157 

Q150 = 1 Q151 
What are all the types of paid leave that 
[partner’s name] took for [child’s name]’s birth? 
 
NOTE: Multiple responses allowed. 
 
1. Parenting/Paternity leave 
2. Holiday/Recreation/Annual leave 
3. Long service leave 
4. Family/Carer’s leave 
5. Sick leave 
6. Other 
7. Don’t know 

 
 
 
 
 
 
 
 
 
 
 
 
 Q152 

Q151 Q152 
How many weeks of paid leave did [partner’s 
name] take for [child’s name]’s birth? 
 
NOTE: if less than 1 week record full days, 
otherwise record full weeks. 
 
Press F9 for more information. 
 
a) Record full days (numeric 1 digit (1 to 6)) 
b) Number of weeks (numeric 3 digit (1 to 104)) 

 
 
 
 
 
 
 
 
 
 
 EDIT   Q157 



 

 

SG050 = 1, 2 
Q150 = 5 
Q152 

Q157 
Did [partner’s name] take any [unpaid leave/time 
away from work] for [child’s name]’s birth? 
 
1.  Yes 
5.  No 

 
 
 
 
1.  Q158 
5.  Q158C 

Q157 = 1 Q158 
How many weeks of [unpaid leave/time away 
from work] did [partner’s name] take for [child’s 
name]’s birth? 
 
NOTE: if less than 1 week record full days, 
otherwise record full weeks. 
 
Press F9 for more information. 
 
a) Record full days (numeric 1 digit (1 to 6)) 
b) Number of weeks (numeric 3 digit (1 to 104)) 

 
 
 
 
 
 
 
 
 
 
 
 EDIT  Q158C 

Q136 = 5 
Q157 = 5 
Q158 

Q158C 
The next few questions are about the Dad and 
Partner Pay Government Payment. 
 
Was [partner’s name] eligible for Dad and Partner 
Pay? 
 
1. Yes 
5.  No 
6. Don’t know 

 
 
 
 
 
 
1.  Q158D 
5.  SG053 
6.  SG053 

Q158C = 1 Q158D 
Did [partner’s name] receive Dad and Partner 
Pay (to supplement their income) while on leave 
for [child’s name]’s birth? 
 
1. Yes 
5. No 

 
 
 
 
 
1.  SG053 
5.  Q158E 

Q158D = 5 Q158E 
What is the main reason [partner’s name] did not 
receive Dad and Partner Pay? 
 
1. Intends to 
2. Don’t know 
3. Other (text string 200 characters) 

 
 
 
 
 SG053 
 

Q158C = 5 or 6 
Q158D = 1 
Q158E 

SG053 
 
1. If Q137 = 1 
2. If Q137 = 5  
3. If SG046 = 2 
4. If Q136 = 5 and partner LFS Q080 answered 
5. If Q136 = 5 and partner LFS Q080 NOT 

answered 

 
 
1.  Q176 
2.  Q160 
3.  Q159 
4.  Q161 
5.  Q159 



 

 

SG053 = 3, 5 Q159 
The next few questions are about the first job 
[partner’s name] had since [child’s name]’s birth. 
 
Did [partner’s name] [start/return to] work after 
[child’s name]’s birth? 
 
1.  Yes 
5.  No 

 
 
 
 
 
 
 
1.  SG054 
5.  Q190 (Module 4) 

 Q159=1 SG054 
 
1. If SG053 = 3 
2. If SG053 = 5 

 
 
1.  Q160 
2.  Q162 

SG053 = 2 
SG054 = 1 

Q160 
[The next few questions are about the first job 
[partner’s name] had since [child’s name]’s birth.] 
 
Was the first job or business that [partner’s 
name] had the same as [his/her] [job/business] 
while you were pregnant? 
 
1.  Yes 
5.  No 

 
 
 
 
 
 
 
 
1.  Q177 
5.  Q162 

SG053 = 4 Q161 
Was the first job or business that [partner’s 
name] had, after [child’s name]’s birth, the same 
as [his/her] current [job/business]? 
  
1.  Yes 
5.  No 

 
 
 
 
 
1.  SG055 
5.  Q162 

SG054=2 
Q160 = 5 
Q161 = 5 

Q162 
In [partner’s name]’s first job since [child’s 
name]’s birth, did [he/she] work for an employer 
or in [his/her] own business? 
 
1. Employer 
2. Own business 
3. Other/Uncertain 

 
 
 
 
 
1.  Q163 
2.  Q165 
3.  Q164 

Q162 = 1 Q163 
Was [partner’s name]’s paid a wage, salary, or 
some other form of payment? 
 
1. Wage/Salary 
2. Other/Uncertain 

 
 
 
 
1.  Q167 
2.  Q164 



 

 

Q162 = 3 
Q163 = 2 

Q164 
What was [partner’s name]’s [working/payment] 
arrangements? 
 
1. Unpaid voluntary work 
2. Contractor/Subcontractor 
3. Own business/Partnership 
4. Commission only 
5. Commission with retainer 
6. In a family business without pay 
7. Payment in kind 
8. Paid by the piece/item produced 
9. Wage/salary earner 
10. Other 

 
 
 
 
1.  Q190 (Module 4) 
2.  Q165 
3.  Q165 
4.  Q165 
5.  Q167 
6.  Q167 
7.  Q167 
8.  Q167 
9.  Q167 
10.  Q167 

Q162 = 2 
Q164 = 2, 3, 4 

Q165 
Did [partner’s name] have employees (in that 
business)? 
 
1.  Yes 
5.  No 

 
 
 
 
 
 Q166 

Q165 Q166 
Was that business incorporated? 
 
1.  Yes 
5.  No 

 
 
 
 
 Q167 

Q163 = 1 
Q164 = 5 to 10 
Q166 

Q167 
What was [partner’s name]’s occupation in that 
[job/business]?  
 
(Title) Text string (100 characters) 

 
 
 
 
 Q168 

Q167 Q168 
What were [partner’s name]’s main tasks and 
duties? 
 
(Main tasks and duties) Text string (100 
characters) 
 
Create Field to store Occupation Code 

 
 
 
 
 
 
 
 Q169 

Q168 Q169 
What kind of business or service was carried out 
by [partner’s name]’s [employer at the place 
where [he/she] worked/business]? 
 
Text string (100 characters) 
 
Create Field to store Industry Code 

 
 
 
 
 
 
 
 Q170 

Q169 Q170 
What was the name of [partner’s name]’s 
[employer/business]? 
 
NOTE: Ctrl R may be entered here is necessary 
 
Text string (100 characters) 

 
 
 
 
 
 
 Q173 



 

 

Q170 Q173 
How many hours did [partner’s name] usually 
work each week in that [job/business]? 
 
NOTE: if worked less than 1 hour, enter 0. 
 
Number of hours (numeric 3 digit (0 to 168)) 

 
 
 
 
 
 
 SG055 

SG053 = 1 Q176 
(The next few questions are about [partner’s 
name]’s first job after returning to work since 
[child’s name]’s birth.) 
 
Did the number of hours that [partner’s name] 
usually worked change when [he/she] first 
returned to work after [child’s name]’s birth? 
 
1. Changed 
2. Stayed the same 

 
 
 
 
 
 
 
 
 
1.  Q178 
2.  SG055 

Q160 = 1 Q177 
(The next few questions are about [partner’s 
name]’s first job after returning to work since 
[child’s name]’s birth.) 
 
Did the number of hours that [partner’s name] 
usually worked change or stay the same after 
[child’s name]’s birth in that [job/business]? 
 
1. Changed 
5. Stayed the same 

 
 
 
 
 
 
 
 
 
1.  Q178 
5.  SG055 

Q176 = 1 
Q177 = 1 

Q178 
Was this change in hours because of [child’s 
name]’s birth? 
 
1. Yes 
5. No 

 
 
 
 
 
 Q179 

Q178 Q179 
How many hours did [partner’s name] usually 
work each week in that [job/business] after that 
change in hours? 
 
NOTE: if worked less than 1 hour, enter 0. 
 
Number of hours (numeric 3 digit (0 to 168)) 

 
 
 
 
 
 
 
 SG055 

Q161 = 1 
Q173 
Q176 =2 
Q177 = 5 
Q179 

SG055 
 
1. If Q173 < 35 
2. If Q179 < 35 
3. If Q161 = 1 AND (LFS Q049 < 35 OR LFS 

Q069A < 35) 
4. Otherwise 

 
 
1.  Q180 
2.  Q180 
3.  Q180 
 
4.  Q181 



 

 

SG055 = 1, 2, 3 Q180 
[Does/Did] [partner’s name] usually work less 
than 35 hours each week to assist with the care 
of [child’s name]? 
 
1. Yes 
5. No 

 
 
 
 
 
 
 Q181 

SG055 = 4 
Q180 

Q181 
(When [partner’s name] first [started/returned to] 
work after [child’s name]’s birth), did [he/she] use 
any of the following arrangements to assist with 
the care of [child’s name]? 
 
NOTE: Running prompt question. 
Read out all categories 1–7, if ‘no’ to all then 
enter Code ‘8‘. 
More than 1 response is allowed 
 
1. Part-time work 
2. Shiftwork 
3. Work from home 
4. Leave arrangements 
5. Flexible working hours 
6. Job sharing 
7. Any other work arrangements 
8. No work arrangements used 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1–7  SG056 
8.  Q182 

Q181 = 8 Q182 
Were any of these arrangements available to 
[partner’s name] in [his/her] [job/business]? 
 
1.  Yes 
5.  No 
6.  Don’t know 

 
 
 
 
 
 
 SG056 

Q181 = 1 to 7 
Q182 

SG056 
 
1. If partner LFS Q080 answered AND (partner 

LFS Q019 = 1 OR partner LFS Q020 = 1) 
2. Otherwise 

 
 
1.  Q182A 
 
2.  Q190 (Module 4) 

SG056 = 1 Q182A 
The next few questions are about [partner’s 
name]’s current job. 
 
Are there more than 100 people employed by 
[partner’s name’s] [employer/business] at the 
place where [partner’s name] works? 
 
1.   Yes 
5.   No 
6.   Don’t know 

 
 
 
 
 
1.  SG057 
5. Q182B 
6. Q182B 



 

 

Q182A = 5, 6 Q182B 
About how many people are there? 
 
1.   Less than 10 
2.   10-19 
3.   20-99 
4.   Don’t know 

.






 SG057 

 
Q182A = 1 
Q182B  

SG057 
 

1. If  partner LFSQ30 = 2 OR partner LFS 
Q54 = 2 OR partner LFSQ32 = 16 OR 
partner LFSQ56 = 16 

2. Otherwise 
 

 
 
1.  Q183 
 
2.  Q182C 

 
SG057 = 2 

Q182C 
Does [partner’s name]’s employer provide 
[him/her] with paid paternity leave? 
 
1.   Yes 
5.   No 
6.   Don’t know 

 
 
 
 
 
 Q182D 

Q182C Q182D 
Does [partner’s name]’s employer or industry 
provide [him/her] with long service leave? 
 
1.   Yes 
5.   No 
6.   Don’t know 

 
 
 Q183 

SG057 = 1 
Q182D 

Q183 
In [partner’s name]’s current job, does [he/she] 
use any of the following arrangements to assist 
with the care of [child’s name]? 
 
NOTE: Running prompt question. 
Read out all categories 1–7, if ‘no’ to all then 
enter Code ‘8‘. 
More than 1 response is allowed 
 
1. Part-time work 
2. Shiftwork 
3. Work from home 
4. Leave arrangements 
5. Flexible working hours 
6. Job sharing 
7. Any other work arrangements 
8. No work arrangements used 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1–7  Q190 (Module 4) 
8.  Q184 

Q183 = 8 Q184 
Are any of these arrangements available to 
[partner’s name] in [his/her] current 
[job/business]? 
 
1.  Yes 
5.  No 
6.  Don’t know 

 
 
 
 
 
 
 
 Q190 (Module 4) 

 


